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ANTHROPOLOGY
PAPER - 1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Who among the following gave the concept of geographical, local and micro-races ?
(1) R.D. Lewontin (2) S.M. Garn (3) E.A. Hooton (4) W.C. Boyd
2. Which one of the following Epochs is called the “Age of Apes” ?
(1) Oligocene (2) Eocene (3) Pleistocene (4) Miocene
3.  Which bone is known as “shin bone” ?
(1) Femur (2) Tibia (3) Humerus (4) Ulna
4.  One of the first to study brachydactyly was :
(1) Francis Galton (2) William Bateson (3) W.C. Farabee (4) A.E. Garrod
5.  “Goodness of fit” test is also known as :
(1) t-test (2) ANOVA (3) Chi square test (4) Regression
6.  The maintenance of two or more alleles in a gene pool as a result of heterozygote advantage
is
(1) Transient polymorphism (2) Genetic Equilibrium
(3)  Multiple allelism (4) Balanced polymorphism
7. A deficiency disease relating to protein energy malnutrition characterized by growth failure,
edema, irritability and pigment changes in the skin is known as :
(1) Marasmus (2) Kwashiorkor  (3) Rickets (4) Dermatitis
8.  The totality of deleterious alleles in a population is known as :
(1) Genetic load (2) Genetic loss
(3) Genetic equilibrium (4) Genetic mortality
voorss [ [HHIHANHLNAN : ot
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Jriiferes, TR qen ger-Jenfadl s staemen fefafed § 9 e €2
(1) &R wEifed  (2) TETH TH (3) 3T gH (4) T=g 4. 9Fe

frefafed § @S- wh g0 a9 g’ Feard § 2
(1) ST (2) e g (3) eTEd T (4) WA

HA-H Ay ‘e EF’ ®?
(1) ®R (3fee) ) feforn (sidsifernn)
(3) TIHE (Wifean) (4) ST (SAq:TehITe3enT)

ST A 1 STead oo fohee fopam o ?
1) wEgmees  (2) fafoam seww (3) T L @ (4) TS NE

‘T ST ftRe ! wRietor i o1 TR T | W € 2
(1) S-ude (2) T (3) E-THEX T (4)  HHISAU

fITaS 1Y % oA S ¥ H Q1 A1 SART Teiell Sl TEEme a1 Bl © 2
(1) &R g (2) SIARTER HeH
(3) g TeATerd (4) Hdfed agetehd

TIEH-Selt FANU § Fralf-erq 31eqar o1 A, 5o fasm v, v, fasfaemm ik = # gufs
AT B & FIT FHeaTdl © 2
(1) w" (2) FERISARERT (3) Tk (4) ewiersfed

SFEEI H 3 Ul bl THUT hl 991 hed © 2
(1) STERE 9R PR CINEIE]
(3)  SATEfRh Hde (4) SEMRER o
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9.  Who are your cross-cousins ?
(1)  Your mother’s cousin’s children
(2) The children of your mother’s sister or / and your father’s brother
(3)  Your father’s cousin’s children
(4) The children of your father’s sister or / and mother’s brother
10. Who among the following is regarded as an ‘armchair anthropologist’ ?
(1) Edmund Leach (2) James Frazer
(3) Evans - Pritchard (4) B. Malinowski
11. Which of the following Constitutional Safeguard (Article) is related with the economic
development of the Scheduled Tribes ?
(1) Article 339(1) (2) Article 275(1) (3) Article 29 (4) Article 338
12.  Who has edited the book ‘Anthropology Today An Encyclopedic Inventory” ?
(1) Franz Boas (2) A.L. Kroeber (3) Edmund Leach (4) B. Malinowski
13. Who first formulated the doctrine of ‘the psychic unity of mankind” ?
(1) LH. Morgan (2) E.B. Tylor (3) Kenneth Pike  (4) Adolf Bastian
14. Who proposed the evolutionary scheme of religion as follows ?
Animism — Ancestor worship — Polytheism — Monotheism
(1) Franz Boas (2) E.B. Tylor (3) LH. Morgan (4) R.R. Marrett
15. The concept that behaviour in a society should be evaluated in terms of the society’s own
cultural values is known as :
(1) Revivalism (2) Configurationism
(3)  Cultural relativism (4) Ethnocentrism
16. In a society divided into several clans, if clan ‘A’ gives women in marriage to clan ‘B’, and
clan “A’ does not take women from clan ‘B’ is known as :
(1) Bilateral descent (2) Ambilineal descent
(3) Symmetrical alliance (4) Asymmetrical alliance
poorss | HINVRRRAI : o
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1) Tt SeTE (2) TEA. HW (3) TUeHE &= (4) ot Hfererht

Frefafed § 9 feas ' ve afass ot g9euar’ &1 fagia g fear ar?
(1) TATE A (2) & TR (3) YT UEH (4) TESITH AR

frefafed o 9 frea o &t fashreers JsHT sl 39 YR 9&a fohan o ?

STTHTETE — oS TSl — TERAATaG — ThYaRAR
1) < S 2) Tl TR (3) TATAAFA  (4) ORIR We

T8 STaeRon, TS forddl TS § SegR 1 ThRer o IS o HiGh{de qodi & e # fora s
T, S0 o5 T § S ST & 2

(1) I Hed-eg ) wfa=rgar
(3) WiEpfas AHLAR (4) YR HsaR
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17.

18.

19.

20.

21.

22.

Which of the following Indus Valley sites yielded the earliest signboard of the world ?
(1) Ropar (2) Kalibangan (3) Dholavira (4) Lothal

Which of the following is characteristic feature of domesticated cereals ?
(1) Shattering grain (2) Non-shattering grain
(3)  Split grain (4) Wind blown grain

Which of the following is not an iron age site ?
(1) Noh (2) Attranjikhera
(3) Ahichchatra (4) Utnur

Which of the following is not an attribute of Neolithic culture ?
(1) Grinding-polishing technique (2) Pottery
(3) Food production (4) Smelting

Which of the following features best describe the Homo habilis fossil ? Use the given code.
(a) It was discovered by Louis and Mary Leakey

(b)  The first fossil of this type came from South Africa

(c) The fossil was also called as ‘Handy Man’

(d) The rock deposits bearing the fossil belong to Late Miocence Epoch.

Code :

(1) (a) and (d) are correct (2) (b), (c) and (d) are correct

(3) (a) and (c) are correct (4) (a), (b) and (c) are correct

Which of the following features correctly describe the Down Syndrome ? Use the given
code.

(a) Itis also known as 21 - Trisomy
(b) Curt Stern was the first one describe it

(c) Itis accompanied by mental retardation, dermatoglyphic changes and congenital heart
disease.

(d) Only males are affected; females die even before birth.

Code :
(1) (@), (c) and (d) are correct (2) (b), (c) and (d) are correct
(3) (a) and (c) are correct (4) (a) and (b) are correct

voorss | IR 6



17. fr=fafed § 4 feg foy =l woe = fova 1 gr=fiqaq gemmag arn 7@ ?

1) e (2) Il (3) e (4) <
18. =Rq ¥ &1 frAfafed & & SH-9F fagoa €2

(1) T o= (2) TRz U=

(3) fawfsa g= (4) a1 9 forEw gem U=

19. frfafed § @ wiF-a1 dg i wore T8 7 2
(1) e (2) STES
(3) eHfes (4) [

20. FI-9meTor Heapfa 1 Freafafed § § wE-o T o E § 2
1) foui (faf<m) - ofafim qede (2)  fagt & o=
(3) WA eTeH (4) @

21. frefafed § @ wH-4 faeman 2 2fafers siamm w9 =men #d €2 9 ST % &1 39Em
HIC :

) 30 o e T ot 3 e o

) 39 YRR K1 YU SHATeH SFEI0T STHTRT § ST AT |

) Siaren w1 g A’ oft hEt S g

) STemed T ST el TgH HEY S STed A (HREHTA) il % 2 |

n o oo

[oN

(
(
(
(

<< :
(1) (a) ¥R (d) & & (2)  (b), () 3R (d) T &
3) (a) 3 (c) Wl & 4)  (a), (b) 3 () T

22. TSA |H-1§|H3h°rHHlmltqdﬁ@aﬁ?F‘r%rﬁqﬁT‘Hﬁqﬁ%ﬂﬁHm%? I QU %2 &1 39Em

il

sﬁ 21 - feam oft wed €1
T WA A TIYYH TUh! TS Hi oAt |
ST AHTE Hed, SHerAE ke dedid 3R Uereeit 2ea I of BId € |

o o
~— ~—

_~ o~ o~ o~
@)
~

d) ad gEY guIfad B <; Fori S 9 veet @ W S § |

<< :

a>mu d) wdl ¥ (2)  (b), () IR (d) W &
(3) (a) 3R ﬂ%"’f% 4) (a) 3R (b) T &
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23.  Which of the following features describe the autosomal dominant inheritance ? Use the given
code.
(a) Affected individuals in equal proportions.
(b)  Affected individuals in multiple generations.
(c)  Unequal transmission by individuals; i.e, male to male transmission is more.
(d) Sometimes there may be a skipping of a generation.
Code
(1) (a), (b) and (d) are correct (2) (c) and (d) are correct
(3) (a) and (b) are correct (4) (a), (b) and (c) are correct
24. Which of the following features best describe the H.H. Risley’s classification of the people of
India ? Use the given code.
(a) He gave his classification in 1930.
(b) It was on the basis of anthropometric measurements.
(c) He classified the people of Indian-subcontinent into seven major groups.
(d) Identification of the Western Brachycephals in India was one of his classification’s
highlights.
Code
(1) (a), (b) and (c) are correct (2) (b), (c), and (d) are correct
(3) (@), (c) and (d) are correct (4) (b) and (c) are correct
25.  Which of the following best describe the characteristic features of Meiosis ? Use the given
code.
(a) Daughter cells are genetically similar.
(b) Parts of chromosomes are exchanged in crossing over.
() Occurs only in ovaries and testes.
(d) Involves two cell divisions.
Code
(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
c) and (d) are correct (4) (a), (b) and (d) are correct
Focrt ||\|“|\|H||\|“HIHHH : ot




23, frfafed § § wF-d T foRmar SfEREt (STeHme) THE S9mid shi e il 8 2 = fau

(b) =g difedl | yuiferd safer |
() AT T STFEH H=RT; A1 TeT F o0 F=Rol ST S |
(d) -t FE TF W e I 2|

(1) (a), (b) AR (d) W & 2) (o) ¥R () FHE
(3) (a) R (b) W € 4)  (a), (b) 3R () W €

24. fr=fafad § 9 wF-91 T foRvar 9Ra & Al 1 U904, @ g foru aitentor st 95 =men
FIA T2 A feu Fe H1 ST wif

(a) SHA STUAT RO 1930 H TEA feRa |

(b) IIB HHSTHIT AT o STHR T AT |

(c) T YR IU-HEIGIY o ANl hl 0 & el § aFfichd fhaT |
(d) 9RA H qR=m- I & TEdH SHE! T faear 7

) (a), (b) () W& & 2) (), (0 R (d) T E
) (a), (c) 3 (d) Wl € (4)  (b) R (c) Wl €

25. 3 =i g fagrar 1 fFrefafed 5 @ & e gdas gitfig st 82 9 fKu %e &1 swEm

HIfT :
(a) e (A 3W) HINTHT SAfdh T T9H B T |

(b) TURE % FS AW BT TF UTHAT & SRA - & Sl © |
() I8 Faa ferenify iR sievify & € S T

(d) THHR T T HITHR FTASH I B |

<< :

1) (a), (b) AR (c) W € 2) (), (c) 3R (d) T
(3) (a), (o) ¥R (d) T & 4) (a), (b) SR (d) & &
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26. Which of the following features best describe the Gibbon ? Use the code given.
(a) They are also called lesser ape.
(b) They have prehensile tails.
(c) Locomotion is in the form of brachiation.
(d) They are natives of Asia only.
Code :
(1) (@), (c) and (d) are correct (2) (b), (c) and (d) are correct
(3) (a), (b) and (c) are correct (4) (b) and (d) are correct
27.  Which of the following theories are associated with the origin of caste system in India ? Use
code.
(a) Varna theory (b) Occupational theory
(c)  Ecological theory (d) Theory of culture and personality
Code :
(1) (a), (b) and (c) are correct (2) (a), (b) and (d) are correct
(3) (b), (c) and (d) are correct (4) (a) and (b) are correct
28. Which of the following anthropologists are considered belonging to New Evolutionary
School ? Use code.
(a) V.G. Childe (b) J.J. Bachofen
(¢)  Julian H. Steward (d) L.A. White
Code :
(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
(3) (a) and (b) are correct (4) (a), (c) and (d) are correct
29. Which of the following books have been written / edited by Ruth Benedict ? Use code.
(a) Primitive Art
(b) Patterns of culture
(c) The chrysanthemum and the sword
(d) Race, science and politics
Code :
(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
(3) Only (b) and (c) are correct (4) Only (a) and (b) are correct
poor HIHIHIIIIHIHIIH\IIHIHHI il | L ]




26. Trafafed § 4 sF- = foivar saw (frei) & gddss aRifed wdt 82 9 e #e =
ST HI |
(a) I Y AR ft R @S|
(b) TR! IR 9B B B |
(c) T SRIEM % &9 H 2t 71
(d) & e TR % e ¥

W‘:
(1) (a) () 3 (d) & & (2) (b), (c) ¥R (d) A &
(3) (a), (b) 3 (c) Wl € (4)  (b) R (d) & T
27. Trefafad § @ ®F-9 fagid 9ra § Sifd gonelt & 39 | Faifed €7 e 1 TN it
(a) =i fagia (b) EHIH fagid
() uffefasrt fagia (d) =R IR =faa #1 fagia
W‘:
(1) (@), (b) 3R (c) W& & 2) (a), (b) ¥R (d) & &
(3) (b), () ¥R (d) A & (4) (a) 3 (b) WE &

28. frfafea § 3 fm Jfomfll 1 To-fawmard foaram & H&fyq 99 S €2 F2 &1 3@
RIS

(a) iSfl. =TS (b) SIS, SR

(0 Sferr wa. waE (d) TAT =W

e

(1) (a), (b) 3R () Wl & (2 (b), (c) R (d) W& &
(3) (a) 3 (b) W ¥ 4) (@) (0 3 () T E

29. ¥ dAfeae 3 frafafead # 9 fom el o1 forar / Suifed fran €2 %2 &1 7@ sifa
(a) Tufadta s

(b) T 3fF FHeN

) <ZfFroomm i@

(d)

™, 99 TS Yieifead

e
U(%@ %ﬁ 2 (), (o) ¥R W%
(3) ad (b) 3R (c) Tl § 4) ¥ (a) 3R (b) TE F
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30. Which of the following concepts have been proposed by L.P. Vidyarthi ? Use code.
(a) Nature - Man - Spirit complex  (b) Sacred complex
(c) Westernization (d) Modernization
Code :
(1) (a), (b) and (c) are correct (2) (a) and (b) are correct
(3) (a) and (c) are correct (4) (c) and (d) are correct
31. Which of the following principles of Rapid Rural Appraisals are agreed upon by its
practitioners ? Use code.
(a) Optimising trade - offs (b) Offsetting baises
() Triangulating (d) Formal Questionnaire survey
Code :
(1) (b), (c) and (d) are correct (2) (a), (b) and (c) are correct
(3) (@), (c) and (d) are correct (4) Only (c) and (d) are correct
32.  Which of the following authors are related with village studies ? Use code.
(a) Oscar Lewis (b) Mckim Marriott
() S.C. Tiwari (d) William Weiser
Code :
(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
(3) (c) and (d) are correct (4) (a), (b) and (d) are correct
33. Find the correct answer for the cause of Ice Age. Use code :
(a) Change in solar radiation
(b) Change in earth’s orbit
(c) Change in magnetic polarity of Earth
(d) Change in sea level
Code :
(1) Only (a) and (d) are correct (2) Only (b) and (c) are correct
(3) Only (a), (c) and (d) are correct (4) Only (a), (b) and (c) are correct
pour “HIII\I\IHHI\ E o




30. TaW. famneft ¥ frafafed § @ foa stauronest #1 weqa fran €7 % &1 7@ Fifew
(2) FPfA-AT- S e (b) = HFa
(c) ufy=rteRzo (d) eTYfhtRTu
<< :
(1) (a), (b) 3 (c) W& & (2) (a) ¥R (b) W &
3) (a) 3R (c) W& & 4) (o) 3 (d) =& &
31. ga T g o fFrefaraa fasidl 9 ffT W 38 ST3ARl 9e9d € 7 e S TN HifT |
(a) oT=S 9 T3 GHH (b) UfdehRR 3fufd
(c) TaysHeta (d) =i geTEe wee
<<
(1) (b), (c) 3R (d) W& & 2 (@), ()W TAE
(3) (a), (o) ¥R (d) T & (4) Fd (o) 3R (d) T §
32. frfafead § & HH-9 o e & 1Al 9 e 81 %S 1 JanT Hifs |
(a) AR AT (b) AfeT BfReTre
(c) THHEN. fqar (d) fafeem aEsR
<< :
(1) (a), (b) R () TAE @ (b) (o) () T T
() (o) ¥R (d) W E @ (@), (b) R () TAE
33. &9 g7 o RO 1 WH W A %< 1 TIFT RIS |
(a) R fafwor # aftedy
(b) gt =t e H afEdd
(c) Yool s Fraehiy geiterdl H IR
(d) Y& TR H aRadd
<< :
(1) ama() “v'l"ﬁ% (2) A (b) 31 (c) Tl &
3) A (a), d) wdt € (4) A (a), (b) 3R (c) T ¥
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34. Which of the following are required for Archaeological Survey. Use code.

(a) Walking (b) Observation (c) Digging (d) Remote sensing

Code :

(1) (a), (b) and (c) are correct (2) (a), (c) and (d) are correct

(3) (b), (c) and (d) are correct (4) (a), (b) and (d) are correct

35. Which of the following traits continued from Indus Valley civilization into later cultures in

India ? Use code :

(a) Weights and measures (b)  Religious ideas

(c) Pottery making techniques (d) Iron technology

Code :

(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct

(3) (b), (d) and (a) are correct (4) (a), (d) and (c) are correct

36. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : For fetal development to occur normally, the process of meiosis needs to be
normal. If chromosome strands do not separate during divisions, serious
problems can arise.

Reason (R) : Trisomies are caused due to non-disjunction.

In the context of the above two statements which one of the following is correct ?

(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

37. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : In general, Homo is characterized by a smaller facial skeleton, including
smaller teeth and jaws.

Reason (R) : The early fossils belonging to the genus Homo were originally placed into a
single species, Homo habilis, discovered by Raymond Dart.

In the context of the above two statements which one of the following is correct ?

(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Changing - allele frequencies in a population represent evolutionary change.

Reason (R) : Though Hardy - Weinberg Law can be used to estimate the frequency of
autosomal recessive alleles in a population, it can not be used for X - linked
recessive alleles.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Genomic methods are being used to compare the similarities and differences
in the genomes of Humans, Chimpanzees and Neanderthals.

Reason (R) : There is no need of conducting genomic studies on non-human primates as
the fossil record provides us a complete catalogue of the major phenotypic
changes that have occurred over time.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Variability is inherent in all populations.

Reason (R) : The human species is polymorphic, and natural selection can be seen.
In the context of the above two statements which one of the following is correct ?

(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Genetic drift, or Founder effect is the random factor in evolution, and it is
not a function of population size.

Reason (R) : If an allele is rare in a small population it may completely disappear because,
just by chance, it is not passed on to the offspring.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : “Out of Africa” model believes that modern human populations are all
derived from a single speciation event that took place in a restricted region
within Africa.

Reason (R) : The human populations which remained in Africa have the highest degree
of genetic diversity, and all populations outside Africa show a high degree
of genetic relatedness.

In the context of the above statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The forward position of the foramen magnum in the base of the skull can
not be used to infer upright posture.

Reason (R) : The anatomical evidence for erect posture and bipedalism is mainly found
in the post cranial skeleton.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : In double descent, the members of the group observe some rights, duties,
and privileges from father side and some from mother side.

Reason (R) : The case of double descent emerges in a society that is in transition from
matriarchy to patriarchy.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Durkheim’s analyses of Arunta totemism reflects his functional viewpoint.

Reason (R) : Through totemistic beliefs and practices, Aruntas maintain an equillibrium
between the availability of food stuff and survival of the group.

In the context of the above two statements which one of the following is correct ?
(1
2

) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A)is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : According to Claude-Levi Strauss since the making process of all languages
is one and the same, therefore, there is structural uniformity in all the
languages of the world.

Reason (R) : Claude - Levi Strauss’ concept of structural anthropology is absolutely based
upon structural linguistics of the Prague school of linguistics.

In the context of the above two statements which one of the following is correct ?
(1
2

) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Malinowski’s fieldwork in Trobriand Islands is considered to be the longest
fieldwork done by any anthropologists till date.

Reason (R) : It was a forced stay in the field by Malinowski due to the outbreak of First
World War, not any voluntary stay by him.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : ‘Universalization” and ‘Parochialization” are the concepts related with great
and little tradition.

Reason (R) : When an element of great tradition assumes the form of a little tradition, it
is a case of universalization, and when an element of little tradition assumes
the form of great tradition, it is called Parochialization.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) are (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) are (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : 19'h century evolutionism in anthropology is also referred to as ‘Parallel
evolution’.

Reason (R) : According to parallel evolutionism, the culture emerges once and once only
in favourable circumstances, and then it spreads through diffusion and
migration.

In the context of the above two statements which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4)

(A) is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : A kingdom and a chiefdom both are considered as ‘Stateless societies’.

Reason (R) : Characteristics of a state consist of defined territory, defined population,
sovereignty, and a government.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Franz Boas is regarded as a “historical particularist’.

Reason (R) : Historical particularism refers to development of human culture from
savagery through barbarism to civilisation.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Classification in archaeology depends on the problem being studied.
Reason (R) : Tool types represent patterns of separated association of attributes.
In the context of the above two statements which one of the following is correct ?

(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct

(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Taphonomy was important for the study of culture at Olduvai Gorge.

Reason (R) : There were both Oldowan tools and remains of broken bones and teeth
from many different animals at Olduvai Gorge.

In the context of the above two statements which one of the following is correct ?
(1
(2
(3
(4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

~— ~—r — ~—

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Age structure of animal population is important for analysis of farming
practices.

Reason (R) : Bones do not offer possibilities for comparison between food supply and
animal husbandry.

In the context of the above two statements which one of the following is correct ?
(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are correct
(3) (A) is wrong, but (R) is correct  (4) Both (A) and (R) are wrong
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AR (A) :  TY STTHSA St Y G Bt o IR-Th1 o fageraor & forw meeyo 7|
& (R) : 3Tfeer, W Y SR Iy % si= qo o fore SreHTe e el et
ST Q1w o GeY H | HHA-F HE T ?

1) (A) T T, dfed (R) T § 2)  (A) 3R (R) A T E

(3) (A) e B, wfhA (R) ¥&T © 4) (A) 3 (R) ST TTera &
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55.

56.

57.

58.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The speed of decay of unstable radioactive isotope is expressed as half life.

Reason (R) : The time taken for half of the total radioactivity to decay takes seconds to
millions of years.

In the context of the above two statements which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Identify the correct sequence of the following fossils of our own Genus in the ascending
order of their discovery. Use the given code :

(a) Homo naledi (b) Homo ergaster
(c) Homo habilis (d) Homo floresiensis
Code :

1) (), (©) () (d) (2)  (c) (b), (d)(a)

(3) (@ (o) (b),(d) @) (), @), (c)(d)

Identify the correct sequence of the following blood group systems in the ascending order of
their discovery. Use the given code :

(a) Bombay blood group (b) M N Blood group
(c) Rh Blood group (d) Duffy Blood group
Code :

1) @) (© (d), (b) 2) (), @) () (d

(3) (@) (b), @)(c) ) (b), () (d)(a)

Identify the correct sequence of the following major landmark advances in the field of genetics.
Use the given code :

(a) One - gene - one - enzyme hypothesis
(b)  The concept of linkage
(c) Mutations, and mutation theory

(d) Chromosomal abnormalities first observed

Code :
1) (9) (b), (d), (a) (2) (b, (a), (o) (d)
@) (d), (b), (a), (9) 4)  (a), (d), (b),(c)

voorss | IR .



55. 9 S weE fau e § e @ ue o ifieRer (A) TR g o deh (R) e TR
MUY (A) : R Wermshia Treenfier < &= &t 71fd ol 7Y S & ®9 § Afqeemd St
T
e (R) : Fot FeAishaar & N oA & &9 H Yohred H e Ao a9 & S 2 |
ST IHI el o GeH H - Tl © 2
(1) (A)Td (R) 34 T& € iR (R), (A) i T =0 71

2) (A) W (R) SHl W& € 3R (R), (A) Tt T =0 T
3) (A) W& ¥, &feh (R) Terd
(4) (A) 7T B, WfRA (R) T8 T
56. THR I 99 & F=fafEad SHaredl sl 3Tt @ISl o 3TRIE A o Hat 3TIhH i Jga HifaT :
(a) B AAS (b) I 3T
(c) i efaferd (d) B Rt
<
(1) (b), () (a)(d) (2)  (9) (b), (d),(a
3) (@), (9) (b),(d) 4) (), (@), (o), (d

57. Trefafed wa gz yonfasi o6t 37! @S & SRR %A § W&l 3TIshH ol 98 siteg | e feu

(a) Tl T TS (b) T TR TR
(c) RhIH 998 (d) ST T 9B
< :

1) (), (), (d), (b) 2 () (@), (o) (d)
(3)  (d), (b), (a),(c) 4) () (), (d).(a)

58. STIaRER o & H, Ffafed e siaeifas wfdal o Wér STIhd i 9gaH Hifae | = ST Fe
T ST I

(a) Th-SIH-Teh TASITEH TRehedHl

(b) RS (1 HASH) i STERON

(c) Scafadd, iR Iafada fagr

(d) T TR ORI ST

?‘ (©), (b), (d), (a) (2)  (b), (a) (9)(d)
3)  (d), (b), (@) (¢ @) (@), (d), ()(c)
yoorss [TV 2




59. Genetic counselling is essentially an information giving and communication process. Identify
the correct sequence of steps involved from beginning to the end. Use the given code :
(a) Appreciate the way heredity contributes to the disorder and the risk of recurrence;
(b) Understand the medical facts, including the diagnosis, prognosis and the available
management;
(c) Choose the course of action, in view of the risk, family goals and their ethical and
religious standards;
(d) Understand the alternatives for dealing with the risk of recurrence;
Code :
1) (), ©), (@) (b) (2) (@) (b), (). (d)
®) (k) @), (d), (¢ 4 (©) @) (b) (d)
60. Identify the correct sequence of the following facial landmarks in the cephalo-caudal order.
Use the given code :
(a) Stomion (b) Nasion () Gnathion (d) Trichion
Code :
1) (b), (d), (@), () 2 (@), (®) @) ()
®) @, (d) (o) (b) 4) (@), () (b) (d)
61. Epidemiological transition moves forward through the four stages. Identify the correct
sequence of these stages. Use the code given :
(a) During this stage, morbidity and mortality are affected by man-made diseases.
(b) The age of pestilence and famine when mortality is high. Poor use of ecological sources.
(c) The age of degenerative diseases, mortality declines and eventually approaches stability.
(d) Population growth is sustained and begins to describe an exponential curve. The average
life expectancy at birth increases.
Code :
1) @ () (d) (b) ) () (d) () ()
3) (k) (), (©) @ 4) () @) (b) (d)
poorss | HINVRRRAI g o




59.

60.

61.

yooss |11

ST TeTg ATERd: o <F U6 GoR iRl 1 URe 9 11 T o GIaHi o Wl STIshH i
TgaM Sifee | = QU e w1 39 it

(a) AR 9 ThR § A/ faemr Sca=1 ot © IR A I/ faenr Scafa =1 Sifem o1 &
T SHHT YEAIHRA HIfIT |

(b) IFTFEH, JagHM AR SUTe Ya-od THd Hfsshal a=i sl e |

(c) ifem, Tianfer @edi 3R 37 fifques Td enfifer Al &t gfie F 39 & ik H1 9
HIfST |

(d) T G W B ST ok S 1 Joheedl i o foshed sl 99fHu |

RIg=st %A ° gt faftre favremietl & @& STIwA &l 9gaH Sitve | = ST e w1 39
HIfT

(a) wIfHsA (b) AfgsT= () Afasi= d) fefastm

e
1

1) (b), (d), (a),
3 (@), (d) (9 (b) @) @, () (b) (d)

MR faara gfteds =R staeensii & SRS 3T aga €1 STt sTaeensii & W& ST & Jga™
HIfT | = ST %2 1 39am i

(a) T T F SRH, TN AR Fog v Fafda I grr wenfaa aiedt €1

(b) & Jog W 34 € A HEMRT 3R @t o1 I 2l © 1 aiRfeerfaes Sidi o1 SUnT aIgd W gl
&

(c) 3TgeRYe I o1 e, Fog ST Hd & IR T=ra: Feeran o1 St 7|

(d) wEEn gig s Tl ¥ SR SREmdit 9k shi e YRE R Il 81 9 W 3iEd SfeH
TR g STt T

(@), (©), (d), (b) 2) (), (d), (@), (©
(b), (d), (), (a) 4) (9 (), (b), (d)

(i 2




62. Arrange the sequence in ascending order, as per the years of village studies done by
anthropologists :

1)
(2
®)
4)

Village Ghaghra — Village Senapur — Village Bisipara — Village Rampur
Village Senapur — Village Bisipara — Village Rampur — Village Ghaghra
Village Bisipara — Village Rampur — Village Senapur — Village Ghaghra
Village Rampur — Village Bisipara — Village Ghaghra — Village Senapur

63. Arrange the sequence of the books of L.P. Vidyarthi in ascending order, as per the year of
publication :

(1)

Sacred complex in Hindu Gaya — Maler : A study in Nature - Man - Spirit complex —
Cultural Configuration of Ranchi District — Rise of Anthropology in India

Rise of Anthropology in India — Cultural Configuration of Ranchi District —
Maler : A study in Nature - Man - Spirit complex — Sacred complex in Hindu Gaya

Sacred complex in Hindu Gaya — Cultural Configuration of Ranchi District — Rise of
Anthropology in India — Maler : A study in Nature - Man - Spirit complex

Maler : A study in Nature - Man - Spirit complex — Rise of Anthropology in India —
Cultural Configuration of Ranchi District — Sacred complex in Hindu Gaya

64. Arrange the sequence in ascending order the advent of the following religions in India :

(1)
(2)
()
(4)

Sikhism — Islam — Buddhism — Christianity
Islam — Sikhism— Christianity — Buddhism
Buddhism — Christianity — Islam — Sikhism

Christianity — Islam — Buddhism — Sikhism

65. Arrange the sequence of the following concepts /theories in descending order as per their
emergence in anthropology :

1)
(2)
(3)
(4)

Cultural relativism — Cultural ecology — Culture pattern — Cultural materialism
Cultural materialism — Cultural ecology — Culture pattern — Cultural relativism
Cultural ecology — Cultural materialism — Culture pattern — Cultural relativism

Cultural materialism — Culture pattern — Cultural ecology — Cultural relativism

66. Arrange in ascending order the sequence of the following social groups :

1)
()
®)
4)

yoorss ||

Tribe — Clan — Family — Lineage
Clan — Tribe — Lineage — Family
Lineage — Family — Clan — Tribe

Family — Lineage — Clan — Tribe
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62.

63.

64.

65.

66.

';||°|qlll"|¢ll 3 fohu T f=fafed Tia & Tl &l 6 99 & AIER SR A H Fared

ww%@mmeﬁ@ww%ww
AT e — TSt M — T el — =R Ta
forefarer e — TR TMd — FATYL el — BERT TE
TR T — ToraTel Ma — =R T — SR Ta

T b, forneff &t frfafaa q&aenl ®1 STh TRRH o o6 o SR STRE! shH H Hafeed hifeg :

(1) ke HiFeTad 37 f6g T — H1eR @ TSl 37 ToR-HA-TifRe Hireiad — Heaka hhigeH
3Th Tt fefgae — e oIf® TSt 4 sfean

(2) TS E THAATST 37 3Fedl — Thoaed HhgEE A6 Tt fefigae - Ari : T el &
FoR-H-THfe ircra — Hohe hircr 39 &g T

(3) Hehe R 31 g TN — ol FhHRM A Tt fefigare - T &1F Tt
T gfed — AR : T Rl T TR-H- e s

(4) TR : T R T ToR-TA-wifc Hiread — g9 % Tt 31 sfed — Hhoard
FHRIGEA TH T fefigae — Ashe Hirea™ 31 feg T

A H FrAfafed el % ST Sl SRR 5FH § e ST :
1) fag o - seom o - &g o - e o
(2) W o - fam g T o o Stg o
(3) dg g - IO oH — T ¥ - fag o
(4) FE ¥ - s v o dig o - faw o

frefafea srauromsti/fagial = Ifaam § Sgua & STTaR 7o)l %Y § SFafeed Hifa
(1) HiEpfas AR — Fiwkfds nRftafant — T&hfd §&9 — Aiepfar difdkag
(2) GiEHfaw difdearg — Hitpiae MRiEfaR — GERd T&9 — Fithiah AHeTER
(3) Witpiaew WRfefTRT — Fiepfas Yifdwars — F&pa 96T — HEh{dh AUEER
(4) wiEpias Wifdears — Fwpfa &9 — Hiwhias MRS — Fiwpias ameaR

Frefafed arfser SE1 1 TR A § =afeed Hif
(1) SESTfd — M — IRaR — 59
(2) T — SIS — 99 — TRARX
(3) &% — IRER — T — S
(4) URER — T — M — ST

yoorss [TV g



67. Identify the correct sequence of the development of following anthropological
concepts/theories in ascending order :
(1) Culture area approach — Modal personality — Neo-evolutionism — Cultural
materialism
(2) Culture area approach — Neo-evolutionism — Modal personality — Cultural
materialism
(8) Cultural materialism — Modal personality — Neo-evolutionism — Culture area
approach
(4) Modal personality — Cultural materialism — Neo-evolutionism — Culture area
approach
68. Identify the correct sequence of the stone Age cultures of Africa in ascending order according
to the chronology of their appearance. Use code :
(a) Sangoan (b) Fauresmith (c) Stillbay (d) Wilton
Code :
1) @ b)) @ 2 ®) (@@ @ @ @@ k) d @) (@ @@ b
69. Identify the correct sequence of the following geological stages in ascending order. Use
code :
(a) Neogene (b) Pleistocene (c) Holocene (d) Palaeogene
Code :
1) @, ()@ @ @ &) @ @)@ 6 (@@ b @ © @, db)
70. Identify correct sequence of the following cultural features in ascending order as they appeared
at Olduvai Gorge. Use code :
(a) Chopper tools (b) Earliest evidence of fire
(c) Home bases (d) Earliest acheulian tools
Code :
1) (@), 0), © @ @ ©)© @ @
®) @, () (), () @) (©) (d), (b), (@)
71. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) Genetic Drift (i) J.B.S. Haldane
(b) Genetic Distance (i) M. Nei
(c) Twin Method (iii) Sewall Wright
(d) Genetic Load (iv) Francis Galton
Code :
@ () (9 (9
O @ O @ W)
@ () @ ) 0
G) 6 @) @ @
@) @) @ 0O )
voorss [ [HHIHANHLNAN B ot




67. fagm @t H=faiEa grRonsti/ fagidl & foe™ =1 9@ 3RS %A § 989 S
(1) TR & UM — Tgaish Al — Ta-Tahrarg — Hishiasn difdwarg
(2) TR & IUNH — T9-TahEaR — JgaH Al — Hihiasn Hifdharg
(3) WiEhfqew Mifdeware — dgas Al — Ta-fawmare — Hwhia & U
(4)

gl AT — Tithiaeh difdearg — Ta-fasmar — Gwhfa &7 M

68. THiehl i FEAfAREd T HEpfqal i Hicishd H 37k 3q9d o TR Het AR hd |
TEAM ST | e I FAN T
(a) HEM (b) IR () e (d) faeea
<< :
1) (@), (b), (0, (d) (2) (b)(d) (@) () B) () () (b)(d @) (d) () (), (b)

69. Trfafed yormfies =xull st 376 ARE HH H UgaH SIS | H H TAM DT :
(a) T (b) AL (c) BreEm (d) Hfersia
<< :
@ @, (®), @ @ 2 ®) () d) @ @) (@) @b @ (© @, @) b

70. Tr=fafed wiwpfaen foRmarsti i sieed TS § 37 Igua o STTIR el A H U8 hifT | e
CARRILICHIS 1

(a) TR 3SR (b) A 1 YA e
(c) THIES (d) UTEITH T TSR
<< :
1) (d), (b), (9, (a) 2 (), (9) (a), (d)
3) (@), () (d) (b) 4) () (d), (b), (a)
71. G - 1 TQl ol eIl - [1 &1 7al o 919 Gafad w1 e T T e o1 gam Fife
Tt - 1 T - 11
(a) ST STTed @) ST e
(b) STefIeR (i) wAA
(c) oot fafy (iti) e TEe
(d) STIERE TR (iv) TRIfTE TR
e
@@ (b) (o) (d)
1) @ @O @ @)
(2) (@) @@ @) @)
(3) (i) (v) (i) (ii)
4) @) @) ()
roors [ [ HII\I\I 5




72. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) Excessive mucus production, (i) Tay - Sachs disease
digestive and respiratory failure
(b)  Build up of fatty deposits in brain, (i) Albinism
blindness, mental impairment
(c) Anemia due to abnormal red blood (iii) Cystic fibrosis
cells, bone and spleen enlargement
(d) Little or no melanin pigment in (iv) Beta thalassemia
skin, hair and eyes
Code :
@ ®) © (@
O @ 6 G @
@ O @ @) @)
@) (@) @@ 0 )
@) G O @ @
73. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) ‘Partitioned’'model of population (i) J.B.S. Haldane and P.Moslinsky
subdivision
(b) Inbreeding coefficient ‘F’ (i) James Crow and A.P. Mange
(c) Genealogical method (iii) Sten Wahlund
(d) Estimating inbreeding from (iv) Sewall Wright
isonomy
Code :
@@ (b) () (d)
O 6 @) @ @)
@ @ @) 0 @
@) @ O ) G
@) @ ™ 0O 0
74. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(@) Weight (kg)/ height? (cm) (i) Cormic index
(b) Ratio of arm length to leg length (i) Ponderal index
(c) Standing height divided by sitting height (iii) Quetelet index
(d) Mass (kg)/ height® (meters) (iv) Intermembral index
Code :
@ ®) © (@
O @ O @ w)
@ () v 0O G
@) O @) (v G
@) @ @ @ o
poorss [N Z B




72. G - 1 TGl ! el - [1 & 7al o 919 Gafad w1 A T T e i1 gam &I
gt - 1 et - 11
(a)  STHTYh SCNH &I, Ureeh Td YoId hl &3 () -9 I
(b) wfTsR § a9 (el 1 fafv, ofgar, A@few afd (i) Tafatsa
() STHH ST hIf¥IehIst o RV, 2If¥ TE wier (i) fofes wrafad

IR & &R W& STeTdl
(d) &, FW G T H B HAH avieh A1 foaepd & (iv)  Srer Serfien

@@ () (9 (d
1) @) @ Gv) (i)
2 @ @) (@) (i)
3) (@) (@) @) ()
4 (@v) @) @) (i)
73. e - [ %! 931 I Geit - 11 1 7G) o |19 gafad & | = e Tu e & &b S
Tt - 1 gt - 11
(a) TIFETYME Aied 3 Uderv™ HafefasH () ..U TS TS 0. Adfawht
(b)  d: IS Ol TH' (i) SR TS T =i
(c) asmere fafy (iii) A EATE
(d) FHIRERAT (STEEAM) | Hd@: YA R AM (iv) e e
e
@@ () (9 (d
1 @ @) @@ ()
2) (@) (@(v) (@) (i)
®) (v) @) (@) (i)
(4) () @Gv) (@) ()
74. e - [ %! 931 I Gt - 11 1 7G) o |19 gafad w1 = e Tu e & & S
T - 1 gt - 11
(a) oSH (.S /A2 (cm) (i) hRIHH FEhich
(b) g I T 1 T hi T T TI () Hivee ekl
() TS T T AWME H oIS T T AWME § STIIM (i)  Folleeie Yol
(d) HE (9R)(h.SM.) / AR (Hie) (iv) ST Fahih
e :
@@ () (9 (d
1 @) @@ @) ()
(2) () @Gv) (@) ()
®) (@) () (v) (i)
4) (iv) ( ii )

v) (i) (i)
JAMINAN] =




75. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) Proved that fossils are organisms’ remains (i) =~ Carolus Linnaeus
(b) Presented the binomial nomenclature (i) Robert Hooke
of plants and animals
(c) Created the first scientific classification (iii) Thomas Malthus
of plants and animals
(d) Founded demography (iv) John Ray
Code :
@ () (9 (d
O @ O G G
@ O @ @) @)
@) @ O ) G
@) ) @ @ o
76. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) Homo heidelbergensis (i) Woodward
(b) Homo erectus (i) L.S.B. Leakey
(c) Homo rhodesiensis (iii) Schoetensack
(d) Homo habilis (iv) Dubois
Code :
@ ®) © (@
O @ @ ) 0
@ O @ @) @)
@) G @) O @
@) @ @@ ) 0
77. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) Sequencing of entire genome (i) Human Genome Diversity Project
(b) To develop a haplotype map (ii) Genographic Project
of the human genome
(c) To record the genetic profile of (iii) Human Genome Project
indigenous populations
(d) To analyse historical patterns (iv) Hapmap Project
in DNA from participants around
the world
Code :
@ ®) © (@
O 6 @ @ @)
@ G @) O @
@) @ O v G
@) G @ @ 0
s [N .




75. e - 1! Tal ol el - [ & 7al o 919 gafad w1 e T T e o1 gam &I

el - 1
g foman for Sfrerew Sfial & 37e@w §
el TR wgped ot fguca et <

Lz

Sifeheh! i e Tt

£

el SR uRIEl o Ferd o SfieRLuT ot Lol i

76. e - 1! Tal ol eIl - [1 &1 7al o H19 Gafad w1 A T T %e 1 380/ Fife

T - 1
a) T IRfeAeS d
b) M I
<)

d) e efafead

v

d)
i)

i
ii)

(c)
(iv)
(iif) (i
M
(v) (i

\_/\_/v

(b
(i
(id )
(iv

v)

i) (i) )

T - 1
AW M Sl STIhHIR

YAt h1 forgerao

J (@
i) (iv)
) ()

1v) (111)

(

(
2 Tgefadfag (i

(iv

a)

b) HFEH ST % TR T GHE TR S
¢) N SEE H AERE T T HEA
d) fova X & wewifiEl & Swa.T & sfaeifas

- I TGl &1 el - I1 1 A3l o 1 gafad w1 = fKu T e &1 &b S
T - 11

A iAW fafasrar g
EiRIIET R S ET
e SHM FSiae
REERISCT
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78. Match the items in List - I with the items in List - II. Use the code given below :

List - I

(Book)
a) Human Body Measurements
b) Sports Anthropometry
¢) Human Body Composition

d) Manual of Biological Anthropology

@@ (b) () (d)
1) @) @) @O @)
2 @ @ (@v) ()
G) @) @) @ )

List - II

(Authors)

S.P. Singh & Rajan Gaur

H.S. Sodhi

S.P. Singh and Pramila Mehta

LP. Singh and M.K. Bhasin

79. Match the items in List - I with the items in List - II. Use the code given below :

List -1
(a) Folk - urban continuum
(b)  Universalisation and parochialisation
(c) Tribe - caste continuum
(d) Dominant caste
Code :

@ ®) © (@
M O @ @) )
2) ) @ @ @)
() @ @) @)
9 @ @ @) @)

i)
vooss | HUINAN

[6)
~—

(
(
(

\ 3

List - II
(i)  Mckim Marriott
(i) F.G. Bailey
(iii) Robert Redfield

(iv) M.N. Srinivas
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78. e - 1! Hal ol eIl - [1 & 7al o H19 Gafad | A T T e i1 gam Fife
Tt - 11

(T )
LGRS RN
Ty di. 58 T wiHen ded
e 1. T we .. e

T - 1
(q& )
(a) TIHA STl HSHEH
(b) T TRl
(c) TIHA Sfel hursied
(d) ISR A ARl LeRmatarst

79. e - [ %! W31 I Geit - 11 1 7G) o |19 gafad & | = e TU e &1 g S

T - 1

a) TR-TRE Hided

c)  SISId-Sifd |ided

(
(b) ETEITHRIR SR TR
(
(d) el Sfd

@@ () () (d)

1 @ @ @) (@)

(2) (@) @ @) (@1v)

3 @) @ @) @
)

iv)

) (
i

4) (@

) @® @
voorss [N

ii

(
(
(
(

i)

i
i

if)

i

v

)
)

T - 11
Afery AfRkefe
TS, ol
REEIREE [
TH.. Fifer™
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80.

81.

Match the items in List - I with the items in List - II. Use the code given below :

List -1

(Sex ratio of Scheduled Tribes

(1)
(2)
®)
4)

as per Census - 2011)

1035 ()
924 (i)
984 (i)
1020 (iv)
@ () (9 (d

@ (@) @) ()

(i) @) @ (@)

@ @) Gv) (@)

(i (@ G (@)

List - II

(States)

Jammu and Kashmir
Madhya Pradesh
Kerala

Chhattisgarh

Match the items in List - I with the items in List - II. Use the code given below :

List - I
(a) Social Safeguard
(b) Economic Safeguard
() Education and Cultural Safeguard
(d) Political Safeguard
Code
(@ () (o (d)
1 @ (@) @) ()
@ @ @ 3§D (@)
@) (v) () @) ()
@) (i

) @(1v) (i)
voorss. |11 RHNNIN

(ii)
|

\ 5

List - I1

i)  Article 330

(

(i) Article 23
(iii) Article 15 (4)
(

iv) Article 275
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80. e - I Wal ol Gell - I1 & QI o |19 Hfad &L | i T T e 1 940 FifT

81.

T - 1

(2011 T STIOTT o AR I e
STt st fAmaT )

()
(b)
(©)
(d)

A

1035

924

eI - 11

(T=7)
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Tt - 1

HHITSTeh &Il SuTa

Tfefeh HeaT 3™
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ST Teh GRa 3ur™

a)
i)

C

)
i)

( (

(i) (@v) (@) (D)
@) i)  (iil) (iv)
(iv) iii) i) (i)

(ii) i) (i)

(b)  (
) (
i
( (

gt - 11
TS - 330

i) TR - 23
i) 3TTT - 15 (4)
v) SR - 275
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82.

83.

o
yoorss |11}

Match the items in List - I with the items in List - II. Use the code given below :

List - II
i 1895
(i) 1831
(i)
(iv)

1789

1925 - 47

List -1
(a) Kol Rebellion
(b)  Birsa Movement
(c)  Zeliangrong Movement
(d) Revolt of the Tamar of Chhotanagpur
Code :
@ ®) © (@
M O @ @) )
@ G @ @) @)
G) G @ @) (i)

Match the items in List - I with the items in List - II. Use the code given below :

List - I
(a) Community Development Programme
(b)  Tribal sub - plan
(c) Tribal Cooperative Marketing

Development Federation of India

(d) Tribal Development Block
Code :
(@ () (o) (d)
O @O @@ @) o @Gv)
(2)  (v) (@) @) ()
@) @) @) o (v) (i)
(4) (@) @ @) (@)

42

List - II
Vth Five - Year Plan
I11'd Five - Year Plan

Ist Five - Year Plan

VIIth Five - Year Plan
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83.

yoons ||

T - 1
(a) A fam®
(b) fowen svide
() ST sTicer
(d) B AR % qHTE Fl fokie
e :

@@ () (o9 (d)
@O @@ @) )
2 @ @@ @) (@)
@) @) @ (Gv) (i)
4) (v) @) @) @

T - 11

1895

il 1831

i) 1789

1925 - 47

T - 1! 71 I Gt - [ Tal o |1 Gafad e | = ST 7T Fe 1 7380 i

e - 1

a) W forerd SR

¢)  YRAME Afearsl et foque foasha g

(
(b)  STIETE S-S
(
(d) sfeardl fase gEe

@@ (b) (o) (d)

1 © @ G (@iv)
(2) () (@) @) @)

3 @) @ @) @
(4) iv)

SOV

)
L

et - 11

R ECIRCELIRIRIEE]
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84. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II

(a) Claude Levi - Strauss (i)  Social Structure
(b) George Peter Murdock (i) Man and His work
(c) E.E. Evans - Pritchard (i) The Nuer
(d) Melville J. Herskovits (iv) The Elementary Structures of Kinship
Code
@ (® (9 (9
1 Gv) @ () ()
2 (v @& @ (i
G @O @ @) (@)
@) (v) @) @ @

85. Match the items in List - I with the items in List - II. Use the code given below :

List - I List - II
(a) Size of (%jth item (i) Mean
(b) % (i) Median
@ ht ﬁ X (I =) (iii) Mode
(d) \/?\T? (iv) Standard deviation
Code
@@ (b) () (d)
1 @ @ @) @)
2 @ @ (@) (i)
G @O @ @) (@)
@ Gv) (@) @@ @
poorss [N B B
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(a) TS TA-TZ0E (

(b) SISt HIex HElh (i) H9 UE fest ok
(c) I3 o f=re (

(d) WA 3. eHhIaed (

< :

(1)
(2)
(3)
(4)

85. He - 1! Wal ol Gell - [1 & Fal o |19 GHfad | A T T e i1 gam Fifaa

gt - 1 gt - 11
(a) (%) i Hg 1 SRR () W (HE)
(b) %X i) w= (Afeam)
© h+ —2f1fi;0fi 5 (b=h) (@) #e
d = ?\?2 (iv) Heh T
<

@ (b) (9 (d)
1 @) @ @) (@)
2 @) @ (Gv) (i)
®) @ @) (@) ()
4)  (v) (i) (i)

i) ()
[ s

(
yoons ||




86. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(a) Village Kishangarhi in U.P F.G. Bailey
(b)  Village Bisipara in Orissa Mckim Marriott
(c) Village Shamirpet in Andhra Pradesh M.N. Srinivas
(d) Village Rampura in Karnataka S.C. Dube
Code :
@ ®) © (@
M) @ O G @
@ @ O G @)
@) O @ @) @)
@) G @) @ 0
87. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(Books) (Authors)
(a) Archaeology : An Introduction L.R. Binford
(b) An Archaeological Perspective V.G. Childe
()  What Happened in History Brian M. Fagan
(d) Archaeology : A Brief Introduction Kevin Greene
Code :
@ ®) © (@
U @ @ 6w
@ @ @ @) 0
@) @ @) @ @
@) @) O @ @)
88. Match the items in List - I with the items in List - II. Use the code given below :
List - I List - II
(Theories in Archaeological Anthropology ) (First author to contribute)
(a) Ethnoarchaeology (i) Nicole Branton
(b)  Settlement archaeology (i) Jeremy A. Sabloff
(c) Landscape archaeology (i) Gordon Willey
(d) Action archaeology (iv) W. Longacre
Code :
@ ®) © (@
O 6 @ G @)
@ @ @) 6 @)
@) v @) 0 @
@) @ 6 G @
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89. Match the items in List - I with the items in List - II. Use the code given below :

List -1

(Archaeologists)

Code

(a)
1 @
(2) (i)
(3) (i
4) (@Gv

R.S. Bisht
c¢) FR. Allchin

d) G.R. Sharma

a) H.D. Sankalia
)

®) (© (@
) (@) (iv)
i) Gv) G
) O G
(i) ) )

List - II

(Sites excavated)
Mahadaha
Utnur

Dholavira

Nevasa

90. Match the items in List - I with the items in List - II. Use the code given below :

List -1

(Authors)

(a) Mortimer Wheeler

(b) Gregory Possehl

(c) Jonathan Mark Kenoyer

(d) D.P. Agrawal

Code :
(a)
(1) (i)
2 O
(3) ()
4) (@Gv

pooss

)
ll

®) © @
0 @ G
) (@) (iv)
v O G
@) @ 0

48

List - I1
(Books written)

The Indus Civilization : A Contemporary
Perspective

Indus Civilization : An Interdisciplinary
Perspective

The Indus Civilization : Supplementary
Volume to The Cambridge History of India

Ancient Cities of Indus Valley Civilization
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1) (i)
2 ® @ @) (@iv)
(3) (i
) (

.

3) @) (@v) ()

4)  (iv) () (i

iii)

i

)
[l

T - 11
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(iv) TEEE fedS 31 sed ool fafaaesied

49 Paper-II



91.

92.

93.

Read the following text and choose/pick the correct answer of each of the following
questions : (Q. No. 91 - 95)

Ever since the Europeans entered into Melanesia, recurrent messianic movements took place
in this region of the Pacific ocean. Such movements have been referred to as “Cargo Cults’.
Peter Worsley has exquisitely described it in his book” The Trumpet shall sound : a study of
Cargo Cults in Melanesia.

The specific features of the Cargo Cult were that at any point of time, a shaman would
suddenly announce like a messiah, that the doomsday have arrived. Every thing would be
inundated underwater and thus destroyed. Therefore, there was no need to accumulate any
wealth. The gardens were uprooted and destroyed. All domestic pigs and fawls were killed.

He further declared that after the doomsday there would be a new beginning. In the new
set-up, the whitemen would become black, and blacks would become whites. In addition, he
also announced that their gods and ancestors would arrive in their land by aeroplane. They
would bring enormous ‘Cargo’ i.e., the European goods produced in factories for them. He
blamed the whitemen that the Cargo that they gave to them were, in fact, sent by their
ancestors from heaven.

The Europeans first thought that it was a rebellion against them, and they tried to suppress
them forcefully.

Peter Worsley suggests that Cargo Cults were, in fact, revitalization movements carried on
by the Melanesians during their early contact with the Europeans. The Europeans were then
technologically most advanced, and the Melanesians were the least in this respect. Cargo
Cults is also a manifestation of culture conflict.

As a result, despite being aware of their grass exploitation by the whitemen, the
Melanesians could not clash with them. They were aware of the might of the European
guns. On the other hand, they had become so used to Europeans goods that they were
indispensable for them. Finding no way out, they looked up to their Shaman for panacea.

What is Cargo Cult ?
(1) arebellion movement (2) a revitalization movement

(3) a violent movement (4) a non-violent movement

What did Melanesians mean by Cargo ?
(1) a cargo ship (2) the European goods produced in factories
(3) a cargo plane (4) the guns and gun-powder of the Europeans

Where did Cargo Cult take place ?
(1) in Melanesia (2) in Malaysia (3) in Indonesia (4) in Indo-china

voorss | IR L



frefefaad oo = 7€ @R = feu 0 g 99 1 SR ST : (W9s ST 91 - 95)

AT AR A 5o | AT | gorst fha, 99 W J20id 7errR o 39 &5 H SR gHigrerel stige
Ul 37 SRl ! ‘HE hoed ok ®Y H HfHd fmar e 1 deX a€d 7 o g
T TR 3 9IRS : T RE! SATh HF hoed 3 HAHRE H 59 9K H g &1 9 9vid foRa 7

I shee hit Taf3Te fa9rodame 9% off for e 3fen adier &) wifd fordt off T9ar st=meh =ieon & fh
HIMA 1 e 31 T 1 YA =S ST Bl I B ST | safery, fendt off g & Suer ot
IS SATALIHAT el €| TN WM R T R I S & | el Irerg gar iR vaft ur fau s o)

I 3T HOT AT o HAmd o e o 9T Tk TS YEd B | S e H vod SAfad sTeed |
SE 3TN STead Ao 3o Bl 6 | $Hek e, 98 98 i SN hia foh 37k <al-gadm IR el
fomM o FaR Bt SRt YT WUgST | o St ‘A, At Sk fore thigeat # fffa Ride o,
A | ST TId AT IR Y el foh 3¢ S il fedn S §, 98 <WeTae S qasil g1 & | Sl
AL

T =fREl = Tee 9 foh 97 3 foeg T fokie © oiR 3%0H 30 Jaqds S 1 wam foran |
e gHe 1 A foh T hoew are # Rargedmssem stided 9, St alide safaml &
3R YR Pk & SR HAMREA @l §R1 9T T 91 q9 JA4E @R Grifies €9 9
qaityes swEdt 9 3R HAWREA T 36 AMel § Faifees fee &1 Sl shoe Hepid § 9oy &t o
T fvefH T

Y Al GRI =R T o eSS HATI T 3k | ASTE Tl bt HWehd 9 | o JANT Sgehi b
wifert © afifed &1 el Sit o it aegsi % gaq el @ Y 9 fop 9 S for STafier o T off |
3TqUH, T FHN A TR AU FHES & M & fou 3t frme 37 ofren W fesht @

91. T hee FAME ?
(1) T foR= ST 2) T RAEARSIA STiceH
3) U o g (4) TH AfEHE Qe

92. AN SAfl 1 I 9 1 AT o ?
(1) 0 SRS 2) higeai ¥ faftiq Rde aegqa
(3) I faAM (4) M AfFE gk IR e

93. T e HEl Sl Tl ?
1)  HomfmE | 2)  HAfdEn o (3) serfE | 4) fe=—<md

1) (
yoorss [TV g



94. Whether Cargo Cult is also :
(1) a war of independence by Melanesians against the Europeans
(2) a result of culture contact and manifestation of culture conflict
(3) afreedom movement by the Europeans
(4) a treaty between the Melanesians and Europeans
95. Who is supposed to bring panacea in Cargo Cult ?
(1) The Whitemen
(2) Melanesians
(3) Peter Worsley the author of the book
(4) Melanesian Shamans
Table below depicts the sex ratio among the rural populations of some North Eastern states
of India (Census 1991). After carefully going through the table answer Q. Nos. 96 - 100.
State 0 - 14 years 15 - 49 years 49+ years
Arunachal Pradesh 1045.85 975.76 1472.22
Assam 725.19 816.70 967.21
Meghalaya 1045.66 1002.17 1032.97
Mizoram 1064.87 890.95 976.19
Sikkim 1094.87 973.95 792.79
Tripura 1020.30 991.68 1008.00
96. In 0 - 14 years age group which state of the following had the highest sex ratio ?
(1) Assam (2) Sikkim (3) Meghalaya (4) Tripura
voorss [ [HHIHANHLNAN 2 ot




94. I FHFI hee I8 W 7?2

(1) U9 Al & o TemR=EE i w1 s §am
(2) HERfa-grTeh &1 IR0 SR Tpfa-ged &l stfyeafa
(3) It A 1 T S
(4) TEHRER @fE iR M Al & o |6y

95. hFl shee H THETY o foIu fowed 3T9eq i 78 2

(1) voa Afeql 9

(2) HARREA =feE |

(3) T o @S e a8 |
(4) TEHREE e 9

frefafea difeieht YA o $ I ot AT i U0 SEe | felmgaa (SmoM, 1991) <6
SO T1 T QNI hl FEHMHIYEE TgH o a1 9 &A1 96 - 100 F I T

T 0-14 9« 15 - 49 9%t 49+ o
STEUTIS TR9T 1045.85 975.76 1472.22
3T 725.19 816.70 967.21
e 1045.66 1002.17 1032.97
sty 1064.87 890.95 976.19
fafsry 1094.87 973.95 792.79
Bk 1020.30 991.68 1008.00

96. 0-14 4 o T TE H (=farad H 9 forq To9 § waifyes g o ?
T (2) fafewa (3) HEEE 4) P
I

1)
poorss [[[{FHIITHHLA
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97.

98.

99.

100.

Which of the following states had the lowest sex ratio from 0 to 49 and above age groups ?
(1) Arunachal Pradesh (2) Mizoram

(3)  Sikkim (4) Assam

Which of the following states showed the highest increase in sex ratio from one age - cohort
to another ?

(1) Tripura (2) Mizoram

(3) Arunachal Pradesh (4) Assam

Which state showed the consistent increase in sex ratio from 0 to 49 + age cohorts taken
together ?

(1) Mizoram (2) Assam (3) Tripura (4) Sikkim

Which state showed the consistent decline in sex ratio across the three major age cohorts ?

(1) Tripura (2) Mizoram (3)  Sikkim (4) Meghalaya

-00o0-
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97.

98.

99.

100.

frrefafed ® fora T # 09 49 3R F90 o1y w9@l § Freraw fefmora o ?
(1) ST&EI=a ) Tusie
3) fafern 4) eEH

frfafed o | ffe T9 7 T ST-HRR 9 TH STY-HRIC qh [@ad | Faifys gieg qu of ?
1) B @) fusica

(3) STEUEA U (4) oT9H

Frefafad o 9 f58 T 7 0 949+ 311 *ieed i faemet famgaa § fFRE gfg <uiiE of ?
1) Tsim (2) smH @) Bgu (4) faform

frg T A IF Y E o1 ey | femaa # fia firgae guf of ?
1) g (2) fHsim @) faferm (4) HEEE
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Space For Rough Work
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